

JK - Kwang Jhong

24-86 Oak Park Dr.

Little neck, NY 11362

NHP Auto Specialist Inc.

95 Denton Avenue

New Hyde Park, NY. 11040

Phone: 516-467-7756 Fax: 516-506-7037

Your mechanical care is our Duty!

INVOICE

34396

Org. Est. # 053223 Reg # 7121312

Work Completed:

08/01/2018

Date: 09/03/2020

1994 Jaguar - XJS - 6L, V12 (366CI) VIN(3)

Lic #: JCD5893

Odometer In: 77716

Unit #: 225/60/16

Odometer Out: 77718

Home 646-483-6267 Cellular 917-763-9116				Unit # : 225/60/16	Odometer Out: 77718	
			F. 4	VIN # : SAJNX234X RC190415		
Part Description / Number	Qty	Sale		T 1 11 11 11 11 11 11 11 11 11 11 11 11	Hours	Ext
Brake Disc-Rear	2.00	200.50	401.00			
JLM 12424 Brake Fluid DOT 5.1 500ML	1.00	22.02	22.02	FUEL FILTER - Remove & Replace - All Applicable Models	0.80	87.20
DOT5.1 500  Brake Pad Set-Rear w/ Shims  JLM 21918	1.00	84.50	84.50	DISTRIBUTOR CAP - Remove & Replace - V12 - [Includes: Replace Rotor and adjust ignition timing.]	1.00	109.00
Fuel Filter-See Details C2C 35417	1.00	37.10	37.10	ENGINE PERFORMANCE - Analyze - All Applicable Models - [Includes: Check Ignition timing and Emission Control Systems using	0.70	76.30
Oil filter kit oem  OFKIT	1.00	15.00	15.00	SPARK PLUG WIRE SET - Remove &	1.00	109.00
NYS Vehicle safety and emission	1.00	37.00	37.00	Replace - V12		
inspection fee				SPARK PLUGS - Remove & Replace - V12	1.30	141.70
Safety & Emission Freon R134a	2.00	14.00	28.00	STEERING PUMP RESERVOIR - Remove & Replace - All Applicable Models	0.60	65.40
R134a A/C lubricant oil	1.00	5.00	5.00	PINION SHAFT SEAL - Remove & Replace - Rear Axle	1.50	163.50
PAG	1.00	0.00	5.00	Transmission fluid drain & refill	0.50	54.50
Brake Disc-Rear	2.00	200.50	401.00	Replace oil and oil filter kit to specification	0.21	20.00
JLM 12424				NYS Inspection		nc
Auto Trans Fluid ECO ATF - 6 Gallon 3103-400	1.00	330.42	330.42	NYS Inspection  A/C system check for leak and pressure	2.50	272.50
Gear Oil-Rear Differential 75W-90 NS GL-5	2.00	18.59	37.18	check. Retrofit with new R134 A system A/C system evacuate, recharge, and added	tracer dye oil. Pressure	
58304				test system to spec	2.20	0.40.00
Differential Seal NLA 1/17  JLM 12138	1.00	95.50	95.50	CALIPER - Remove, Install, and Overhaul - Front, Both - [Includes: Bleed System and replace Pads (if necessary).]	3.20	348.80
Fuel Filter-See Details 89058397	1.00	15.79	15.79	DISC ROTOR - Remove & Replace - Front, Outboard Mounted, Both - [Includes:	1.50	163.50
Brake Pad Sensor-Rear 18" Wire  DBC 6596	2.00	24.75	49.50	Replace Pads (if necessary).  DOES NOT include refinishing.]		
Brake Pad Sensor-Rear 18" Wire  DBC 6596	2.00	24.75	49.50	DISC ROTOR - Remove & Replace - Rear,VIN 188105 & Up,Outboard Mtd,Both - [Includes: Replace Pads (if necessary).	1.60	174.40
Oil Filter Short Filter EBC 9658	1.00	19.85	19.85	DOES NOT include refinishing.] PINION SHAFT SEAL - Remove & Replace -	1.50	162.50
F LT REB CALP W 19-767	1.00	173.93	173.93	Deer Aule	1.50	163.50
F RT REB CALP W	1.00	173.93	173.93			
Brake Disc-Front  JLM 776	2.00	270.00	540.00			
Brake Pad Set-Front w/ Shims  JLM 1510	1.00	115.25	115.25			
Pinion Seal	1.00	90.50	90.50			



## NHP Auto Specialist Inc.

95 Denton Avenue New Hyde Park, NY. 11040

Phone: 516-467-7756 Fax: 516-506-7037

Your mechanical care is our Duty!

INVOICE

34396

Org. Est. # 053223 Reg # 7121312

Work Completed:

08/01/2018

Date: 09/03/2020

JK - Kwang Jhong

24-86 Oak Park Dr.

Little neck, NY 11362

Home 646-483-6267 -- Cellular 917-763-9116

1994 Jaguar - XJS - 6L, V12 (366CI) VIN(3)

Lic #: JCD5893

Unit #: 225/60/16

VIN #: SAJNX234X RC190415

Odometer In: 77716 Odometer Out: 77718

Part Description / Nu	umber	Qty	Sale		-abor Description		
CBC 6923					-abor Description	Hours	Ex
R RT REB CALP W 141.20514		1.00	101.40	101.40			
R BRAKE HOSE 2202483		1.00	14.04	14.04			
2202700	•						
	, i						
	X,						
196							
rg. Estimate 5,196.37	Revisions 0.0	00 (	Current Estima	ate 5,196.37	7		
				0,100.07		Labor: 1,94	49.30

Discount: -300.00 SubTotal: 4,486.71 Tax: 383.79 Total: 4,870.50 Bal Due: \$0.00

2,837.41

Parts:

[ Payments - Cash - \$4,870.50 ] Vehicle Received: 8/1/2018

Customer Number: 2207

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Any warranty work to be done for the vehicle must be returned to the shop for repairs or remedies, otherwise repair or repairs are null & void. Towing is sole responsibility of the customer, unless agreed.

Date



NHP Auto Specialist Inc.

95 Denton Avenue

New Hyde Park, NY. 11040

Phone: 516-467-7756 Fax: 516-506-7037

Your mechanical care is our Duty!

INVOICE

34599

Org. Est. # 053411 Reg # 7121312

Invoice from History

Work Completed:

09/15/2018

Date: 09/03/2020

Odometer In: 0

JK - Kwang Jhong

24-86 Oak Park Dr.

Little neck, NY 11362

Hama 646 492 6267 Cellular 017-763-0116 1994 Jaguar - XJS - 6L, V12 (366CI) VIN(3)

Lic #: JCD5893

Unit #: 225/60/16

VINI # . CA INIVOSAV DC10041E

Home 646-483-6267 Cellular 917-763-9116				VIN # : SAJNX234X RC190415		
Part Description / Number	Qty	Sale	Ext	Labor Description	Hours	Ext
Alternator 120 Amp 210-0406	1.00	396.00	396.00	ALTERNATOR ASSEMBLY - Remove & Replace - V12	2.30	250.70
180F/82C THERMO 13398	1.00	17.33		BLOWER MOTOR - Remove & Replace - Each	1.80	196.20
THERM HOUSING G 25103	2.00	0.99	1.98	AIR COND HOSE - Remove & Replace - Each - [DOES NOT include Air Conditioning System recover, evacuate and/or recharge.]	1.20	130.80
180F SUPERSTAT 45398	1.00	18.32	18.32	A/C system check for leak and pressure check	1.40	152.60
Freon R134a	2.00	14.00	28.00	A/C system evacuate, recharge, and added tra test system to spec	icer dye oil. P	ressure
A/C lubricant oil	1.00	5.00	5.00	THERMOSTAT - Remove & Replace - V12 Both	1.70	185.30
PAG				COOLING SYSTEM - Reverse Clean & Flush - All Applicable Models - [DOES NOT include R&R Thermostat and Hoses.]	1.00	109.00

Org. Estimate 1,098.56 Revisions Current Estimate

Parts: 466.63 SubTotal: 1,491.23

Tax: Total:

Labor:

128.62 1,619.85

1,024.60

Bal Due: \$0.00 Customer Number: 2207

[ Payments - Cash - \$1,619.85 ]

Vehicle Received: 9/13/2018

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Any warranty work to be done for the vehicle must be returned to the shop for repairs or remedies, otherwise repair or repairs are null & void. Towing is sole responsibility of the customer, unless agreed.

Signature

Date



NHP Auto Specialist Inc.

95 Denton Avenue

New Hyde Park, NY. 11040

Phone: 516-467-7756 Fax: 516-506-7037

Your mechanical care is our Duty!

Org. Est. # 056183

INVOICE

37282

Reg # 7121312

Work Completed:

06/06/2019

Date: 09/03/2020

JK - Kwang Jhong

SYNTH

24-86 Oak Park Dr. Little neck, NY 11362

Home 646-483-6267 -- Cellular 917-763-9116

1994 Jaguar - XJS - 6L, V12 (366CI) VIN(3)

Lic #: JCD5893

Unit #: 225/60/16

Odometer In: 79777 Odometer Out: 79777

VIN #: SAJNX234X RC190415

Part Description / Number	Qty	Sale	Ext	Labor Description	Hours	Ext
Oil filter kit oem  OFKIT	1.00	15.00	15.00	Replace oil and oil filter kit to specification	0.21	20.00
Synthetic oil	11.00	9.50	104.50			

Org. Estimate 151.53 Revisions 0.00 Current Estimate 151.53

139.50 SubTotal: Tax: 12.03 Total: 151.53

20.00 119.50

\$0.00

Labor:

Parts:

Bal Due:

[ Payments - Cash - \$151.53 ]

Vehicle Received: 6/10/2019

Customer Number: 2207

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Any warranty work to be done for the vehicle must be returned to the shop for repairs or remedies, otherwise repair or repairs are null & void. Towing is sole responsibility of the customer, unless agreed.

Signature Date